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QUESTION 1

A customer has an aging Fibre Channel SAN from one vendor and a separate iSCSI SAN from another vendor. The
customer wants to upgrade to a single vendor that will allow them to manage the SAN through a single vendor
management

console.

Which solution should you recommend?

A. one HPE Nimble iSCSI group federated to an HPE 3PAR for Fibre Channel

B. one HPE Nimble Storage Fibre Channel Group and one HPE Nimble Storage iSCSI Group

C. one HPE Nimble Fibre Channel group federated to an HPE 3PAR for iSCSI

D. one HPE Nimble Storage Group that has a Fibre Channel port and a ISCSI pool

Correct Answer: B

QUESTION 2
You completed the HPE Nimble storage replication partnership in a customer environment.

When you test the network connection from the primary partner to the secondary partner, the test fails; when you test
the connection from the secondary to the primary partner, the test is successful.

What is the most likely cause of the failure?

A. The secondary partner name is not configured properly
B. The secondary array network ports are misconfigured

C. The test can only be performed from the secondary array
D. The primary partner name is not configured properly

Correct Answer: A

QUESTION 3

A customer is experiencing high utilization on their VMware ESXi server NICs when they backup virtual machines stored
on an HPE 3PAR 8200. Which technology is available on a StoreOnce VSA to reduce the network utilization?

A. Catalyst target-side deduplication
B. Transportable shadow copies
C. Backup from storage snapshots

D. Adaptive Data Reduction
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Correct Answer: A

QUESTION 4

Refer to the Exhibit.

Volume Collection: vc-ms-fileserver Actions -
RECOVERY POINT REPLICATION PARTNER MEMBERS SNAFSHOT RETENTION
2017-06-12 16:12 2017-06-12 16:10 gr-dr-arrays q 102 92
Local Remote Voltras Local Remote

SCHEDULES VOLUMES | SNAPSHOT COLLECTIONS |

EVENTS All
SNAPSHOT COLLECTION SNAPSHOT TIME W= REPLICATED
No Events
ve-ms-fileserver-2mins-2017-06-12::16:12:0 2017-06-12 16:12 In Progress
SCHEDULE Two-minute-schedule
ve-ms-fileserver-2mins-2017-06-12::16:10:0
SCHEDULE Two-minute-schedule 2017-06-12 16:10 2017-06-12 16:11+/
ve-ms-fileserver-2mins-2017-06-12::16:08:0 2017-06-12 16:08 2017-06-12 16:09+/

SCHEDULE Two-minute-schedule

A customer with an existing HPE Nimble installation sends you the output shown. The administrator who initially set up
the replication has left the company. They ask you what the current RPO level for their replication is. How should you
respond?

A. They need to verify the RPO level from the host vc-ms-fileserver

B. They have an RPO of four minutes

C. They need to send a screenshot of the volumes tab

D. They have an RPO of two minutes

Correct Answer: B

QUESTION 5

A customer has HPE B-series switches and is not interested in Extended Fabric licenses for edge switches. They have
sites over 10km apart. Which SAN extension technology should you recommend?

A. FC over DWDM
B. FC over CWDM
C. FCoE
D. FCIP
Correct Answer: D

Reference: https://h20195.www2.hpe.com/v2/GetPDF.aspx/c04499584.pdf

QUESTION 6
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A customer has a pair of HPE 3PAR arrays with Synchronous Replication enabled. They need recommendations for
deploying the Quorum Witness when implementing Peer Persistence. What should you recommend to the customer?

A. The Quorum Witness should be in the secondary data center, with IP connectivity to the HPE 3PAR there
B. The Quorum Witness should be in a third data center, with FC connectivity to both HPE 3PARs

C. The Quorum Witness should be in the primary data center, with FC connectivity to the HPE 3PAR there
D. The Quorum Witness should be in a third data center, with IP connectivity to both HPE 3PARs

Correct Answer: D

Reference: https://h20195.www2.hpe.com/v2/GetPDF.aspx/4AA5-8914ENW.pdf

QUESTION 7

Refer to the exhibit.

3PAR Nimble 3PAR Nimble
8450 AF40 8400 HF20
SQL Oracle VMWare F&P
\ VEEAM
| T e
J
L_,;'_ —
StoreOnce e StoreOnce
Tape Library

——— 3 Backup Data

e Replication

A customer has the environment shown. They currently perform application-consistent daily full backups via Veeam
backup to an HPE StoreOnce device. These backups are then replicated to an alternate device using Catalyst copy.

Changing business requirements have mandated the RPO and RTO for the customer\\'s SQL databases be reduced to
15 minutes. Due to the size of the databases, it is not possible to meet this requirement with their existing backout

application.
What should you recommend the customer implement in order to meet their new requirement?

A. HPE 3PAR Remote Copy in Synchronous Mode
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B. HPE RMC Express Protect
C. SPE StoreOnce Cloud Bank
D. HPE 3PAR Remote Copy in Asynchronous Streaming Mode

Correct Answer: D

QUESTION 8

A customer wants to implement a disaster recovery plan for their current HPE 3PAR array data. They have obtained a
remote site 10km away their primary site. They have performed bandwidth testing, and have confirmed their RTT is
approximately 100ms. The customer needs to provide data replication to assure the best data availability they can
achieve. Which synchronization method meets their needs?

A. Asynchronous Streaming

B. Asynchronous Periodic Remote Copy

C. Synchronous Remote Copy

D. Peer Persistence

Correct Answer: B

QUESTION 9

A customer needs to upgrade their existing HPE 3PAR environment. They ask you to present a solution to gather data
from all 200 of their HPE 3PARs arrays, which are spread across the globe. The arrays consist of various generations
and OS levels, and they are managed by regional instances of SSMC. What should you present to the customer as a
solution?

A. using an HPE 3PAR CLI script with the checkupgrade command

B. using a script based on the HPE 3PAR Web Services API

C. using the upgrade report tool in HPE InfoSight

D. using the SSMC array configuration reports

Correct Answer: D

Reference: https://support.hpe.com/hpsc/doc/public/display?docld=c05243943

QUESTION 10

A customer has recently acquired another company that is located less than 3 km from their current main location. Both
locations use HPE B-Series products in their storage environment. The customer needs to merge the 2 locations
together

while still using the current WAN and networking infrastructure at both locations. They need to keep their initial cost
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down until they are able to redesign both networking infrastructures.

Which protocol should be incorporated when providing a proposal to meet the customer needs?
A.I1SCSI

B. CWDM

C. DWDM

D. FCIP

Correct Answer: B
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